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ANEsEXNEZAY 43 (=II=1) 75,898 79,353 A 3,455
sEHMEssE=2E 75,898 79,353 N 3,455
101 14 Hl 36,098 35,553 545
04 JIZtHZ2XREES 36,098 35,553 545
OsgHgssd=2d 20,846
>llEs 49,6003 101+207 10,268
PEsd 49,6003 x1921 %43 2,133
> AX =G 49,6003 x101+10 496
> a0z 10,267,200 121 «4/12 3,423
>aAadl ¥ WSl 250,000& x121+10& 2,500
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SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
DAEE 2 1,925,850 x 1Al 1,926
> I 24| 100,000 = 1Al 100
OsgHESES2Y LAY o082 15,252
= 49,6003 %221 150 14,880
DANEE 2 372,000 x 14! 372
201 LBt Y| 31,800 31,800 0
01 AP 22| d| 7,000 31,800 A 24,800
O1 LBt=24| 2,000
PsHMESSHE 29 2,000,000 =14l 2,000
O3 2 5,000
DsUMEWNARE LA
200,000& *x253] 5,000
02 2224 24,800 0 24,800
O1 222 2 AHA 19,800
PsOMESSE dIRe2
18,000,000 « 1Al 18,000
DEIIGHHMEAH W& =42 150,000& x12& 1,800
O3 A& Z&Hl KAl 5,000
DsHMESSE AEAH KA
500,000& x10= 5,000
206 M EHl 8,000 12,000 A4 ,000
01 XHZ Hl 8,000 12,000 A4 ,000
SSEHME WA HEMS 8,000,000& x 14! 8,000
MEESs 1,320,000 0 1,320,000
WEAHAXI= 1,320,000 0 1,320,000
MEtd=Y Sedg HE 1,320,000 0 1,320,000
701 JIEISI HSHEZ 1,320,000 0 1,320,000
01 JIEIS HEE 2 1,320,000 0 1,320,000
OXBASY ZSUE 2
1,320,000,000& =14l 1,320,000
H2ddd(sells) 102,322 119,722 A 17,400
= 13,000
Al 89,322
olad 2 A Y| 68,326 75,896 NT,570
= 13,000
Al 55,326
oled A | 33,596 34,827 N 1,231
101 e1214| 33,596 34,827 A 1,231
01 E% 33,596 34,827 AN 1,231
OAZ2tZ224+% 9,3322 x1221x300A| 2+ 33,596
led2dy| (st ss&I|IsXH) 34,730 41,069 N6,339
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A2 B(BH) - NEAY - BaS ofl &k o San HDE2
= 73.000
Al 21,730
101 2121 4| 34,730 41,069 A6,339
= 13,000
Al 21,730
03 2IAHAZ 2 XHE %= 34,730 41,069 AN6,339
OEYAZAUSY SIHA22T 22 (D8
A=Y 2Y) 34,730
Dol 1,308,530 x 121 x12& 15,703
2 13,000
Al 2,703
DA 37,520& * 121 %21 788
>ANS 15,703,000 101 %4/12 5,235
DAIZAZ 2SS 191,610& 121+ 12& 2,300
Daald ¥ WEE XM 250,000 121 x12& 3,000
DAl 2 & 251, 7903 x 121 x12& 3,022
> =0l 150,000& 121 x12& 1,800
DRAEZRE 50,000& *121x12& 600
> Il =4l 100, 000& 10! 100
>EAAZ 2,181,957& *1Ql 2,182
| &2 &l 33,996 43,826 N 9,830
Jl2&H| 33,996 43,826 N 9,830
201 et A H| 12,276 12,276 0
01 At 2t2l ] 11,676 11,676 0
O1 get=2H| 8,400
DEASY =24l 700,000 x12& 8,400
O5 =&t 3,276
DO L2 7,000 x1321 %33 x12& 3,276
02 332 H| 600 600 0
O1 222=2 % HA 600
DRER= 50,000& x12& 600
202 04d| 18,720 18,720 0
01 2L Y| 18,720 18,720 0
OJI2gf =a1ul 1,560,000 ~12& 18,720
203 ¥ R =&t 3,000 3,000 0
04 EANSIELRF=XH| 3,000 3,000 0
ORN2IGIRF&Y| 250,000& 128 3,000




